There are various NOT VALIDATED methods of calibrating different classes
— Results depend strongly on the choosen method
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Simulate each type of class separate (if possible in parallel).
WARNING is raised and Violin Plot createad if sets of tuner_paras have an intersection. (Averaging may not always make sense, see next slide!)

Currently disregarded options

‘ Part of Time Series used for objective function
I$ Start and end point of simulation



Hypothetical objective function makes clear the problem using the same
tuner parameter for two different classes
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Final result?
Intuitive: x_opt = average(x_opt_on, x_opt_off)
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